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SODIUM THIOSULFATE,0.025N,4LITRE W2337

IODINE SOLUTION  .025N    1L W2349

Starch Solution, 4L W2277

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:
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9034

LB96487
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Diff (mL)
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(g)

1 PB110904BL 50 15:0207/06/20180.004.804.800.005.005.021 0.000.20

2 PB110904BS 50 15:0507/06/2018200.002.282.280.005.005.041250 2.522.72

3 J3880-01 50 15:0807/06/201828.694.444.440.005.005.021 0.360.56

4 J3880-01DUP 50 15:1207/06/201830.344.428.864.445.005.011 0.380.58

5 J3880-01MS 50 15:1507/06/2018109.523.423.420.005.005.041250 1.381.58

6 J3880-01MSD 50 15:1807/06/2018111.113.406.823.425.005.041250 1.401.60

7 J3880-03 50 15:2207/06/201839.764.304.300.005.005.031 0.500.70

8 J3880-05 50 15:2507/06/201834.924.368.664.305.005.041 0.440.64

9 J3880-07 50 15:2807/06/201860.684.044.040.005.005.011 0.760.96

10 J3880-09 50 15:3207/06/201850.694.168.204.045.005.051 0.640.84

11 J3880-11 50 15:3507/06/201866.933.963.960.005.005.021 0.841.04
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 J3880-13 50 15:3807/06/201868.803.947.903.965.005.001 0.861.06

13 J3880-15 50 15:4207/06/201831.944.404.400.005.005.011 0.400.60

14 J3880-17 50 15:4507/06/201865.213.988.384.405.005.031 0.821.02

15 J3880-19 50 15:4807/06/201876.493.843.840.005.005.021 0.961.16
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume
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T2 = Titrant2
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